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Q1.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.

 



Q2.
 

 
Q3.
 
Apart from d, where the mark scheme states otherwise, the correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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‘Question ‘Working Answer Mark Notes
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inclusive
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Sxor
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AT dep on atleast M1 (-2.45
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Total 5 marks
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Question

Answer

Mark

Notes

@

‘tangent at (
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M1

For a drawing a tangent
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difference in x values
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For
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Al
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®)
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For the correct line drawn
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For a=—4 or
82, 5,83

Al

dlows2. b, 83

Total 7 marks
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Question | Working Answer Mark Notes

(@ 5.0.-3.-4,-3.0,5 B2 Bl for 2 correct

() correct graph 2 For the correct smooth curve
B for at least 6 points from table
plotted correctly provided at least B1
scored in ()

Total 4 marks





image8.jpeg
Q ‘Working Answer Mark Notes
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Al
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Total 4 marks





image9.jpeg
Question ‘Working Answer Mark Notes
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2).(1-2). curve.
2.0).(G.14).
BI for at least 5 points
plotted comrectly: ft from
table for plotting only
provided at least B
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©  |F-6x1=m=0or 3 T [BT
1-6+m=0
@ MI y=x-3drawn
271029 2 | Al from graph (dep on

M1)
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Working Answer [ Mark Notes
40.(2).| 2 ‘Award B1 for any 2 correct.
2,04
(b) (0. 4).(1,0), 2.-2). Correct 2 For the correct smooth curve. Bl for at least 5
(. -2).(4,0).6.4) curve points from table plotted correctly provided at

least B1 scored in (a).

Total 4 marks
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Question’ Working Answer [ Mark Notes
@ (6)2.0).(0).2)6| 1 |BI Forboth entries correct
) .0).(3.0).(4.2).(5.6) MI for at least 5 points
plotted correctly (f
their table)
Comrecteurve | 2 | Al foracomect curve
© | x-5x+6=x-1 Ml orfor y=x—1
Ml for y=x-1drawn
16and44 3 |Al deponM2

£t from their graph in
(b) if at least 1 mark
scored in (b)
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‘Working Answer | Mark Notes
dy M1
eg L =2 6or (-
dx
3R -32+40r
B3+45413-45"
2
(x—3P—5orx=3 Al | (ft providing previous
M1 scored) for (3, =5
M1 | for correct method to
find roots
x=3+45 Al | or exact equivalents
Comrect | 6 | B2 | for fully correct
graph labelled graph
(see end of mark
scheme)

(B1 for parabola
intercepting y-axis at

0.4)

Total 6 marks
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Q Working Answer| Mark Notes

@

“

M1 liney =2 drawn

-1.3 Al SC:Bl for (-1.2) and 3.2)

]

M1 addition of 6 to both sides or
subtraction of 7x from both
sidesora=—Torb=6

® | £4+5x-746=6 or
2 +5x-T=Tx=-Tx or

X =2x-1=-Tx+6

Al SC:Blfora=7andb=

5

Total 4 marks
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Question | Working Answer Mark Notes

@ Parabola through B2 Fora parabola with minimum (2,-4)

through at least 5 of
(-4,5).(-2,0).(0.-3). (4.5).(-2.0).(0.-3).(4.-3)(6.0).(8.5)
(2.-8).(4.-3).(6.0).(8.5)
If not B then B1
For u-shaped parabola with
‘minimum (2.—4) or
For u-shaped parabola through
(~2.0).(6.0) or
For u-shaped parabola through
2 (45).6.5
® 3 1 |B1
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Q ‘Working Answer Mark Notes
(@ (7,-4) 1 Bl
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(3.-12) 1 |Bl
(i)

©6.-4) 1 |B1
(iii)
®) 9 1 Bl
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Q Working Answer | Mark] Notes
7 3 M1
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x »
Al g=JNkor g=+/Nkoeeg. g=k,
b 2 | M1 ft from (a)

atk=1 05
2

Total 5 marks
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‘Working

Answer

Mark:

Notes

325 165

B1

For both
values correct

Points

BL

Allow * %2 5q
ft from their
table

Curve

B1

Tt from their
points if at
least 6 points
plotted
correctly

©

01to0.2and 3.7

B2

B1 for each
correct value
+ v 5q ft from
their graph if
at least 1
mark scored

in (b) tol

[C10]

B1

cao

0]

Draw y = 3x

M1

fromx = 1to
at least x = 3

approx 2.7

AL

Ft from their
graph if at
least 1 mark
scored in (b)
and dep on M1

Total 8
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Question ‘Working Answer Mark Notes

@ =] 15 [3] 6 B2 all 3 correct
375 (3] 375 2 |IfnotB2 then BI for2
correct
Graph MI(ft if at least BI
(®) 2| scored in (a)) for at

least 5 points plotted
correctly square
Al for correct curve
betweenx=1andx=6

i
§
i
4
2
0 2 4 6 x
(© |v=35 drawn M1
17.53 2 |'AL i graph which gives

at least 2 roots

NB: Sight of just one
correct solution with
no method shown gets
Mo A0
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Ques | Working Mark Notes
a 2 |B2  allcomect
Bl for2or3 correct
b Correct 2 |[MIfor plotting at least 6 points correctly from
curve their table (dep on BI earned in (a))
Al fully correct curve
c 44-45 T [BI  fiany parabola with 2 intersections with y =
4,
1 value for x only. Condone eg (4
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Question | Working | Answer | Mark Notes
@ 1521 1 [Bl
®) comect | 1 |BI  Correct curve through (1.3). (2, 1)
curve (3.5). and (4, 21).
© 11 1 |Bl  Accept -1.15< x< -1.05
@ [y=1-2r M2 Line must be long enough to cross
drawn curve and verify accuracy
Mt for x*—3x* —2x+lor
y=-2x+loe
0.8 Al depond2

Accept -09< x £-0.7
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